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Learning outcomes Prove the trigonometric functions,the inverse trigonometric

functions. And solve trigonometric equation.
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Intended destination Find the domain and the range and the value of the inverse of

the sine function

ﬂgg’{aau UNUAYNT Lﬁaqaiim Instructor.  Mrs. Malaiporn uasuwan

%% % % %% % % % % %% % % % % % % % % % % % % % % % % % % % %% % % %% %% %% % %%

The inverse of the sine functions_(arcsin)
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Alternate Example Find the values of the inverse of the sine functions

1) arcsin 0.3448
solution 19 arcsin 03448 = @

sin @ = 03448 ,_~ <p<
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INANIN Sin0.3520 = 0.3448
0 = 03520 = 2010
. arcsin 03448 = 03520 = 20° 10

1.1 arcsin0= ...... 1.2. arcsin 72= ...........
. ) 3
1.3arcsin(-1)=....... 1.4 arcsin (— 7 )=,

1.5 arcsin (——2) =,
2

2) sin(arcsinl)

2
solution arcsinl = @ .. sin@=1, G=. ... , _Tcp<™
2 2 2 2
. sin(arcsinl) = sin@ = sin....... R
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AU siN(@rcsind )=
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3) sin(arcsin12 +arcsin 4)

13 5
solution Gl,ﬁ}arcsinE:A .. sinA=12 12 13
13 13
Yy A A
COSA= . i A AMUNKADYT ...........
I arcsin4 =B, sinB=%4 cosB=........
5 5

. sin(arcsin12 +arcsin 4 )=sin(A+B)
13 5



4) Prove the identitiy arcsin 1 +arcsin 2 =

r
5 J5 2
T arcsin 1 =A  sinA= 1 COSA=........
J5 5
9% arcsin 2 =B sinB= 2
J5 J5
...... (arcsin L +arcsin 2 )=....(A+B)
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1.1) cos(2arcsinQ) = 1—292

3
1.2) arcsin— + arcsin% = - arcsin(-1)

1.3) sin(2arcsinx) = 2x4/1 — x 2
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COSA = — PUMMEBYN 5 cosB = =, sin(arcsin12 +arcsin4) =
13 5 13 5

4. cosA=2  cosB=_1
NG V5
. arcsin 1 +arcsin 2 )= sin(A+B)
J5 J5
=sinAcosB+cosAsinB
2101 .2 2
5 V5 5 5
=1

. . . T
", arcsin12 +arcsin4 = arcsinl=—=
13 5 2
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1.

1.1) cos(2arcsin©) =1—25in2(arcsin9)=1—2[sin(arcsin9)]2 :1—292

arcsinB= A
sinA=0 0 1
cos(2 arcsin®) =cos 2A
~1-2sin’ 1-6°

-1-20°

1.2) arcsin % + arcsin 73 =300+6OO=9OO= - arcsin(-1)

1.3)sin(2arcsinx) = sin 20
:Zsinecose
=2x+y/1 —sin? @

= 2xyJ1—x?



